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UNIVERSITY OF SWAZILAND

DEPARTMENT OF ACCOUNTING
MAIN EXAMINATION PAPER MAY, 2007

DEGREE/DIPLOMA AND YEAR STUDY  : BCOMM V
TITLE OF PAPER :ACCOUNTING THEORY
&INTERNATIONAL ACCOUNTING
COURSE CODE :AC 506 (M) 2007/IDE AC506(M)2007
TIME ALLOWED :THREE (3) HOURS
INSTRUCTIONS 1. TOTAL NUMBER OF QUESTIONS ON THIS PAPER:
FIVE (5)

2.  ANSWER QUESTION 1 (IT IS COMPULSORY),AND
AND ANY OTHER THREEQUESTIONS.THE
TOTAL QUESTIONS TO BE ANSWERED ARE 4
(FOUR).

3. THE MARKS AWARDED FOR A QUESTION/PART
ARE INDICATED AT THE END OF EACH
QUESTION/PART OF QUESTION. ‘

4. WHERE APPLICABLE, SUBMIT ALL WORKINGS
AND CALCULATIONS.

NOTE: YOU ARE REMINDED THAT IN ASSESSING YOUR WORK, ACCOUNT
WILL BE TAKEN OF ACCURACY OF THE LANGUAGE AND THE
GENERAL QUALITY OF EXPRESSION, TOGETHER WITH THE
LAYOUT AND PRESENTATION OF YOUR FINAL ANSWER.

SPECIAL REQUIREMENTS: FINANCIAL TABLES ATTACHED

THIS PAPER IS NOT BE OPENED UNTIL PERMISSION HAS BEEN GRANTED BY THE
INVIGILATOR. |
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QUESTION 1:
REQUIRED :

A. How did the needs of the information requirements of an external investor evolve
and eventually got defined? (10 marks)
B. Define the terms (components) of the following investor’s cash flow model.

1,an
.—._.___Io
(1+B) "

n D.ai
y=Y— +
=1 (1+B)’

Vo =7
Di =7
oi=2?
B =7
[[ =7

I, =?
( 5 marks)

c.  Calculate the subjective net value (Vo) from the following data

1 2 3 4 5
Year of income
E E E E E
Annual dividends per share (Di) 200,000 250,000 | 300,000 | 500,000 | 600,000
Certainty equivalent 1.2 1.3 14 1.5 1.6

The opportunity rate is:18% of the risk free investment.
The market price at the end of year 5 is E2,500,000.
The cost of investment at year O,when an investment decision is made is E2,000,000.

Total for the question

(10 marks)

(25 marks)
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QUESTION 2:
REQUIRED :

What have been the suggestion (based on decision usefulness) to improve financial

reporting?

(25 marks)
QUESTION 3:
REQUIRED :
Discuss the scope of social responsibility as outlined by Ernest and Ernest.

(25 marks)
QUESTION 4:
REQUIRED :

Describe how the ailditing profession and the auditing firms have internationalized
themselves.

(25 marks)

QUESTIONS :

REQUIRED
A. What are the Accounting rules in the European Union,what is the National

Accounting Plan,and how do they affect the companies’ charts of accounts and the

financial statements produced? (15 marks)
B. What are the advantages and disadvantages of the National Chart of Accounts?
( 7 marks)
C. How are the Accounting Standards relate to the National Accounting Plans?
( 3 marks)

Total for the question (25 marks)

TOTAL FOR THE PAPER (100 marks)
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